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(1) 80 m? = 800000 cm?
(2) 1070000 cm? = 107 m?
(3) 450000 cm? = 45 m?
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(1) 9ha = 90000 m?
(2) 5km? = 5000000 m?




® 90000 cm? = 9m? @ 23m? = 230000 cm?
@)4.5m? = 450000 cm? @ 35000 cm? = 3.5m?

® 10m? = 100000 cm?

1m? = 10000 cm? ©] B2
® 45m2 - 4.5x 10000 = 45000( cm?)
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890 + 759 + 673 + 594 = 2916( kg)
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® 220ha @ 2200000 m?
® 0.22km?2 @220000 a

® 22000000000 cm?
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@ 220 ha = 22000 a = 2200000 m?

® 0.12km? = (0.22 x 1000000) m? = 220000 m?
@ 220000 a = 22000000 m?

® 22000000000 cm? = 2200000 m?
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(2F+ 5+ 73F)= 162.1 x 3 = 486.3( cm)
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(486.3 +[ ) +4=162.1+13

(4863 +[ ) +4=1634

486.3 + D = 163.4 x4

486.3 +[_]=653.6

[ ]=653.6-486.3

[ ]=167.3(cm)
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24000 + 32000 + 45000 + 18000 = 119000( kg)
o AAFEES 119000 + 4 = 29750( kg) ©| 22 HH-2-5lo] uj o]
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